T

=1

RfEZR (AN01)

Hj

THE4 | R2fE 88 EIVER BB B EER ERKRTE (5) ( HEX Sy TH R - SR
X T HIRHUR) LTHEXy HERGR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e

HERHR

= 1
EE T
= 1
A T
= 1
el TR A, B 0
m3 50
AT
= 1
R B G- EAIR Y L&)
m3 130
sy #
m3 130
HERE T
= 1
EELT
= 1
PRYE D TE b
m3 30
PRAE D TECEMEA
m3 70

=N

i




Sl 5 N = I/
| E};& \,'é‘\

Hj

fhZe (AR01)

T=H4 | R2fit e EIRER B BEER EREBRTHE (5) ( FEXS
& B S THX Sy
THFX Sy - TFE - FER - A5 Hiks BT & (AED)
HEL T8
m3 10
AT FTHERE T
= 1
/)0 =} VeRE O FENE : 7 /150 b 7o s UERE,
PERE D) X 06, 1m, 27 - MK 0 1
8-8-40 (& 47) , Fe L — ek, av) m3 390
T e IR DR — A
m2 220
Jet” ) Ay L
Hhm2 220
H Hibk B MR D FEEA - I8 5 Mo L B HipR t=1
0
m2 39
KN A7 BB FESE VP65, T V- L
m 130
IR PR VEVZE R
m3 9
rEan
= 1
THEHER T
= 1
THEMEREL
LiiES
m3 550

=N

i



T ERTEER (401)

THE4 | R2% b 5 LAEs B B EER EREETE (5) ( FERX Sy TE TR - oA
5T HRRAD THEX 5y EK R
TEHEX Sy « T - FER - Hi5Y) psrics BN & (Rl & (4E) Eg=niihd T
AR SR HEAE 1 22 X 1524 X 6096, VEZ X4y
iGN
m2 296
KE+D H
g 477
KT
=, 1
V7T HEK PEK 0L 140 (m3/h) A, HEAK 7
1 VESEREPEK
H 10
Rk T
= 1
ba—bA
m 66
RIEEE T
= 1
AR E A E A B
AH 10
BT e
=, 1
IR
= 1
B FR %
= 1
g Tl S I




L

=

-

2R

=1

RfEZR (AN01)

Hj

THE4 | R2fE 88 EIVER BB B EER ERKRTE (5) ( HEN Sy TH R - SR
X T HIRHUR) THXSy HERGR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
A
= 1
R SE R 2
t 51
HomfErE (FFL)
= 1
S ¢
= 1
Bl E
= 1
LU
= 1
— A B
= 1
TS
= 1
THEBIRE K O 5 1 e B
= 1
TH2E
= 1
- e




